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(h) Let K be the number of auccesses which ocour hefore the jth failure.
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{c) This expression is the same as saying we need at least 42 trials to get the 1Tth success,
Therefore, it can be rephrased as having a maximum of 16 successes in the first 41 trials.

Henoe &= 41, o = 16,

3. Practice Problem: For z to be the number of failures before the rih successes, we must
have & + r trials, Therefore, this looks like a shifted wersion of a Pascal PMF, L.e. out of the
x4+ r — 1 trials, we need to pick r — 1 snccesses. If p is the probability of a success,

px(z) = (*’:: l)ﬂl ~p)" for z 20
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